
MATHS

BOOKS - MARVEL MATHS (HINGLISH)

STRAIGHT LINE

Illustrative Examples

1. Using slopes show that the points (1,3), (3,-1) and

(5,-5) are collinear.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SBwBT1T0frRD


2. If the triangle with vertices A (12,8) , B (-2,k) and C

(6,0) is right - angled at C, find k.

Watch Video Solution

3. The point P is (-2,5). Find the point A on the X axis

and the point B on the Y-axis such that the slope of

the line AP is 3 and slop of line BP is 7.

Watch Video Solution

https://dl.doubtnut.com/l/_hVCDuaAJfDHf
https://dl.doubtnut.com/l/_uXPFtFnlTd4Z


4. If the point (1,1) lies on the line passing through

the points (a,0) and (0,b) find the value of the

expression: .

Watch Video Solution

+
1

a

1

b

5. Find the equation of the line having inclination

 and bisecting the join of the points (-2,5) and

(3,4).

Watch Video Solution

135∘

https://dl.doubtnut.com/l/_PNQHHRH0uWNz
https://dl.doubtnut.com/l/_ZBYNYNSxCGQ6


6. Find the equation of the line which passes

through the point (5-1), and divides the join of the

points (9,2) and (3,4) internally in the ratio .

Watch Video Solution

1: 2

7. A (1,-2), B(-2,3) and C (2,-5) are the vertives of 

ABC. Find the equation of the 

(i) side AC 

(ii) altiude from A 

(iii) median from B 

Perpendicular bisector of side AB.

Watch Video Solution

Δ

https://dl.doubtnut.com/l/_y2EV8tHvPn4X
https://dl.doubtnut.com/l/_ER3you88nKS3


8. If (2,-3) and (-6,7) are opposite vertices of a

rhombus , find the equations of its diagonals.

Watch Video Solution

9. Prow that the line through the point 

and
 parallel to the line 
 is 


.

Watch Video Solution

(x1 > y1)

Ax + By + C = 0

A(x − x1) + B(y − y1) = 0

https://dl.doubtnut.com/l/_ER3you88nKS3
https://dl.doubtnut.com/l/_QXrKdetZK3kJ
https://dl.doubtnut.com/l/_rLQXd5ClJKUJ


10. Show that the equation of a line passing

through a given point  and perpendicular to

the line ax+by +c =0 is 

b(x-  =0.

Watch Video Solution

(x1, y1)

x1) − a(y − y1)

11. If a line passing through a point (k,2) and having

x- intercept 4 has slope 1/3 find K.

Watch Video Solution

https://dl.doubtnut.com/l/_SknaXYQM92Jq
https://dl.doubtnut.com/l/_KdS9IlYcbKlv


12. If a line has x-intercept =a and y- intercept =b

show that its slope is m= -b/a. Hence discuss the

equation of a line which makes equal makes equal

intercepts on the co-ordinate axes.

Watch Video Solution

13. Find the equation of the line passing through

the point (1,3), if its y-intercept is 3 times its x-

intercept.

Watch Video Solution

https://dl.doubtnut.com/l/_9vSJwAM6EWOi
https://dl.doubtnut.com/l/_4rpPNDoxfviE
https://dl.doubtnut.com/l/_d9yhqwvpFmOd


14. Find the equation of the straight line which

passes through the point
(-3, 8) and cuts off positive

intercepts on the coordinate axes whose sum is
7.

Watch Video Solution

15. If the mid- point of the portion of a line

intercepted between ithe co-ordinate axes is (4,5)

find the equation of the line.

Watch Video Solution

https://dl.doubtnut.com/l/_d9yhqwvpFmOd
https://dl.doubtnut.com/l/_2g7cU8mn5FMW


16. A line intersects the co- ordinate axes in the

points A and B such that area of  OAB is 48 sq.

units. If the line passes through the point (3,6) find

its equation.

Watch Video Solution

Δ

17. A square is constructed on the portion of

, which is intercepted between the axes

on the side of the line away from origin. The

equations to the diagonals of the square are

Watch Video Solution

x + y = 5

https://dl.doubtnut.com/l/_zr0t4c5Mu8L6
https://dl.doubtnut.com/l/_BGLLo3brKzjE


18. If (-4,5) is a vertex of a square and one of its

diagonal is 7x-y+8-0.Find the equation of other

diagonal

Watch Video Solution

19. . The points (1,3), (5, 1) are the opposite vertices

of a rectangle. The other two vertices lie on the line

. Find c and remaining two vertices.

Watch Video Solution

y = 2x + c

https://dl.doubtnut.com/l/_svAvgPqQv6cI
https://dl.doubtnut.com/l/_XYFW7i8U8EYp


20. The sides of a parallelogram are parallel to the

lines 5x-y=0 and 7x+y=0. If (1,3) and (-2,4) are a pair of

its opposite vertices find the equations of all of its

sides.

Watch Video Solution

21. Astraight line moves so that the sum of the

reciprocals of its intercepts made on axes is

constant. Show that the line passes through a fixed

point.

Watch Video Solution

https://dl.doubtnut.com/l/_p3EdElcH8is7
https://dl.doubtnut.com/l/_Z4AzIuTi8gbC


22. Find the measure of the acute angle between

the two lines. 

(i) x+3y+1=0  2x+y+7=0 


(ii) 3x+2y=9  2x-y+1=0.

Watch Video Solution

   and   

   and    

23. Two sides of a square are along the lines 

5x-12y+39=0 and 5x-12y+78=0. 

Find the area of the square.

Watch Video Solution

https://dl.doubtnut.com/l/_WjPzTlvEMjXL
https://dl.doubtnut.com/l/_eDk6Q68siXaJ
https://dl.doubtnut.com/l/_8rZ7GaHWorz0


24. Find the radius of a circle which touches two

lines 

3x-4y-6=0 and 6x-8y+1=0.

Watch Video Solution

25. Find the equation of the line at a distance of 3

units from the origin and having inclination .

Watch Video Solution

120∘

26. Find the coordinates of a point on


 whose distance from x + y + 3 = 0,

https://dl.doubtnut.com/l/_8rZ7GaHWorz0
https://dl.doubtnut.com/l/_xmCVlxyOnh1F
https://dl.doubtnut.com/l/_cmZXgXKkz7gk



is 

Watch Video Solution

x + 2y + 2 = 0 √5.

27. Find the co-ordinates of the point (s) on the X-

axis which is (are) at a unit distance from the line

5x+12y=12.

Watch Video Solution

28. Find the equation of a line parallel to the line

x+2y-1=0, which is at a distance of  units from

the point (1,3) .

2√5

https://dl.doubtnut.com/l/_cmZXgXKkz7gk
https://dl.doubtnut.com/l/_PhgW6g6jqKu6
https://dl.doubtnut.com/l/_T28McSoU3OqF


Watch Video Solution

29. Find the equation of a line perpendicular to the

line 3x-y-5=0, which is at a distance of  units

froms the points (1,-1).

Watch Video Solution

2√10

30. If  are the lenghts of the

perpendiculars drawn from the origin to the two

lines 

x sec  +y . Cosec  =2a 

P1 and p2

α α

https://dl.doubtnut.com/l/_T28McSoU3OqF
https://dl.doubtnut.com/l/_Ak3EL1GH0m2J
https://dl.doubtnut.com/l/_hSySjKbaLtgo


and x. cos  +y. sin =a. cos 2 , 

show that  is constant for all values of  .

Watch Video Solution

α α α

P 2
1 + P 2

2 α

31. If the perpendicular distance of the line (x/a)+

(y/b)=1 from the origin is  show that 

are in Harmonic Progression.

Watch Video Solution

p/√2 a2, p2, b2

32. Show that the equation 

(3-2k) x-(2+k)y=5-k, 

https://dl.doubtnut.com/l/_hSySjKbaLtgo
https://dl.doubtnut.com/l/_lIxMWvJaC4bX
https://dl.doubtnut.com/l/_LLI0Bp2ydUCc


where k is real represents a family of lines all

passing through a fixed point. Find the co-ordinates

of this fixed point.

Watch Video Solution

33. Using slopes show that the points (1,3), (3,-1) and

(5,-5) are collinear.

Watch Video Solution

34. If the triangle with vertices A (12,8) , B (-2,k) and C

(6,0) is right - angled at C, find k.

https://dl.doubtnut.com/l/_LLI0Bp2ydUCc
https://dl.doubtnut.com/l/_HUaRgUEKtOy9
https://dl.doubtnut.com/l/_bFWBg0xTyiYG


Watch Video Solution

35. The point P is (-2,5). Find the point A on the X

axis and the point B on the Y-axis such that the

slope of the line AP is 3 and slop of line BP is 7.

Watch Video Solution

36. If the point (1,1) lies on the line passing through

the points (a,0) and (0,b) find the value of the

expression: 

.

Watch Video Solution

+
1

4

1

b

https://dl.doubtnut.com/l/_bFWBg0xTyiYG
https://dl.doubtnut.com/l/_DrQpd0x3tNZC
https://dl.doubtnut.com/l/_B3fnxo45cbpZ


37. Find the equation of the line having inclination

 and bisecting the join of the points (-2,5) and

(3,4).

Watch Video Solution

135∘

38. Find the equation of the line which passes

through the point (5-1), and divides the join of the

points (9,2) and (3,4) internally in the ratio .

Watch Video Solution

1: 2

https://dl.doubtnut.com/l/_B3fnxo45cbpZ
https://dl.doubtnut.com/l/_sqYSFyYuweX1
https://dl.doubtnut.com/l/_a2J59B23llMM
https://dl.doubtnut.com/l/_s2hmbr6Vms02


39. A (1,-2), B(-2,3) and C (2,-5) are the vertives of 

ABC. Find the equation of the 

(i) side AC 

(ii) altiude from A 

(iii) median from B 

Perpendicular bisector of side AB.

Watch Video Solution

Δ

40. If (2,-3) and (-6,7) are opposite vertices of a

rhombus , find the equations of its diagonals.

Watch Video Solution

https://dl.doubtnut.com/l/_s2hmbr6Vms02
https://dl.doubtnut.com/l/_EqMasSqWwEFf
https://dl.doubtnut.com/l/_1HlHX6pSHl15


41. Prow that the line through the point 

and
 parallel to the line 
 is 


.

Watch Video Solution

(x1 > y1)

Ax + By + C = 0

A(x − x1) + B(y − y1) = 0

42. Show that the equation of a line passing

through a given point  and perpendicular to

the line ax+by +c =0 is 

b(x-  =0.

Watch Video Solution

(x1, y1)

x1) − a(y − y1)

https://dl.doubtnut.com/l/_1HlHX6pSHl15
https://dl.doubtnut.com/l/_W1YQKwByadM1


43. If a line passing through a point (k,2) and having

x- intercept 4 has slope 1/3 find K.

Watch Video Solution

44. If a line has x-intercept =a and y- intercept =b

show that its slope is m= -b/a. Hence discuss the

equation of a line which makes equal makes equal

intercepts on the co-ordinate axes.

Watch Video Solution

https://dl.doubtnut.com/l/_xafD3aCEEkuz
https://dl.doubtnut.com/l/_dIky9O5KNmT9


45. Find the equation of the line passing through

the point (1,3), if its y-intercept is 3 times its x-

intercept.

Watch Video Solution

46. Find the equation of the straight line which

passes through the point
(-3, 8) and cuts off positive

intercepts on the coordinate axes whose sum is
7.

Watch Video Solution

https://dl.doubtnut.com/l/_iSLOGxpgBq1w
https://dl.doubtnut.com/l/_L4DD8xikt87d


47. If the mid- point of the portion of a line

intercepted between ithe co-ordinate axes is (4,5)

find the equation of the line.

Watch Video Solution

48. A line intersects the co- ordinate axes in the

points A and B such that area of  OAB is 48 sq.

units. If the line passes through the point (3,6) find

its equation.

Watch Video Solution

Δ

https://dl.doubtnut.com/l/_YVP00PLEBMfC
https://dl.doubtnut.com/l/_HQCLIIRekAah
https://dl.doubtnut.com/l/_dM8Zjwp0PTWt


49. A square is constructed on the portion of

, which is intercepted between the axes

on the side of the line away from origin. The

equations to the diagonals of the square are

Watch Video Solution

x + y = 5

50. If (-4,5) is a vertex of a square and one of its

diagonal is 7x-y+8-0.Find the equation of other

diagonal

Watch Video Solution

https://dl.doubtnut.com/l/_dM8Zjwp0PTWt
https://dl.doubtnut.com/l/_XzvXysxoW2lU


51. The points (1, 3) and (5, 1) are two opposite

vertices of a rectangle. The other two vertices lie on

the line . What is the value of c ?

Watch Video Solution

y = 2x + c

52. The sides of a parallelogram are parallel to the

lines 5x-y=0 and 7x+y=0. If (1,3) and (-2,4) are a pair of

its opposite vertices find the equations of all of its

sides.

Watch Video Solution

https://dl.doubtnut.com/l/_BNo6IsZQet0O
https://dl.doubtnut.com/l/_nTNYmqolfrOA
https://dl.doubtnut.com/l/_YVQWfsnRQohN


53. Astraight line moves so that the sum of the

reciprocals of its intercepts made on axes is

constant. Show that the line passes through a fixed

point.

Watch Video Solution

54. Find the measure of the acute angle between

the two lines. 

(i) x+3y+1=0  2x+y+7=0 


(ii) 3x+2y=9  2x-y+1=0.

Watch Video Solution

   and   

   and    

https://dl.doubtnut.com/l/_YVQWfsnRQohN
https://dl.doubtnut.com/l/_WlcLaVBEcWA3
https://dl.doubtnut.com/l/_VLYNsGgIT4fR


55. Two sides of a square are along the lines 

5x-12y+39=0 and 5x-12y+78=0. 

Find the area of the square.

Watch Video Solution

56. Find the radius of a circle which touches two

lines 

3x-4y-6=0 and 6x-8y+1=0.

Watch Video Solution

https://dl.doubtnut.com/l/_VLYNsGgIT4fR
https://dl.doubtnut.com/l/_kcEfxzqIs9yU


57. Find the equation of the line at a distance of 3

units from the origin and having inclination .

Watch Video Solution

120∘

58. Find the co-ordinates of the point (s) on the line

x+y+3=0, whose distance from the line x+2y+2=0 is

 units.

Watch Video Solution

√5

https://dl.doubtnut.com/l/_eowk8lU5rADL
https://dl.doubtnut.com/l/_Yg6UJkReyTLk


59. Find the co-ordinates of the point (s) on the X-

axis which is (are) at a unit distance from the line

5x+12y=12.

Watch Video Solution

60. Find the equation of a line parallel to the line

x+2y-1=0, which is at a distance of  units from

the point (1,3) .

Watch Video Solution

2√5

https://dl.doubtnut.com/l/_ybw2QIN6tPBi
https://dl.doubtnut.com/l/_o3rPD78hvQep


61. Find the equation of a line perpendicular to the

line 3x-y-5=0, which is at a distance of  units

froms the points (1,-1).

Watch Video Solution

2√10

62. If  are the lenghts of the

perpendiculars drawn from the origin to the two

lines 

x sec  +y . Cosec  =2a 

and x. cos  +y. sin =a. cos 2 , 

show that  is constant for all values of  .

Watch Video Solution

P1 and p2

α α

α α α

P 2
1 + P 2

2 α

https://dl.doubtnut.com/l/_N0mwnp9o4qIi
https://dl.doubtnut.com/l/_AdsFLR9thQhA


63. If the perpendicular distance of the line (x/a)+

(y/b)=1 from the origin is  show that 

are in Harmonic Progression.

Watch Video Solution

p/√2 a2, p2, b2

64. Show that the equation 

(3-2k) x-(2+k)y=5-k, 

where k is real represents a family of lines all

passing through a fixed point. Find the co-ordinates

of this fixed point.

Watch Video Solution

https://dl.doubtnut.com/l/_AdsFLR9thQhA
https://dl.doubtnut.com/l/_cwAUS8pvpJBq
https://dl.doubtnut.com/l/_dvk0vysd72fV


Mutiple Choice Questions

65. If u  x-y-6 and v  2x-y-12 find the points (s)

of intersection of the two loci 

21 u +107 v =0 and 5u-133 v =0.

Watch Video Solution

≡ ≡

1. If the line passing through (2,3) and (5,k) has slope

(5/3), then : k=

A. -1

https://dl.doubtnut.com/l/_dvk0vysd72fV
https://dl.doubtnut.com/l/_h4ZPaFTQj4ir
https://dl.doubtnut.com/l/_a156E1uJxoBi


B. 0

C. 8

D. 2

Answer: C

Watch Video Solution

2. If the points (-3,4), (-14,12) and (8,k) are collinear

then :k

A. -1

B. -2

https://dl.doubtnut.com/l/_a156E1uJxoBi
https://dl.doubtnut.com/l/_iFYQ8hPti6CD


C. -3

D. -4

Answer: D

Watch Video Solution

3. If the point (3,k) lies on the line passing through

the points (-1,3) and (1,5) then :k=

A. -1

B. 3

C. 7

https://dl.doubtnut.com/l/_iFYQ8hPti6CD
https://dl.doubtnut.com/l/_u8gwpqJ0ujhw


D. 2

Answer: C

Watch Video Solution

4. If the triangle whose vertices are A(4,3), B(6,-2)

and C(k,-3) is right -angled at A, then : K=

A. 3

B. 8

C. -11

D. -5

https://dl.doubtnut.com/l/_u8gwpqJ0ujhw
https://dl.doubtnut.com/l/_6HnWJGeOcBjW


Answer: C

Watch Video Solution

5. If A is (5,-3) and B is a point on the X-axis such that

the slope of line AB is (-2), then : B=

A. (7,2)

B. (7/2,0)

C. (0,7/2)

D. (2/7,0)

Answer: B

https://dl.doubtnut.com/l/_6HnWJGeOcBjW
https://dl.doubtnut.com/l/_gNNs9PFs7hUs


Watch Video Solution

6. If A is (-4,9) and B is a point on the Y-axis such that

the slope of the line AB is (-1), then : B

A. (0,1)

B. (0,3)

C. (5,0)

D. (0,5)

Answer: D

Watch Video Solution

≡

https://dl.doubtnut.com/l/_gNNs9PFs7hUs
https://dl.doubtnut.com/l/_gZjYFVbwkg2K
https://dl.doubtnut.com/l/_hm74FJ6JuPzl


7. If A is (1,-2), B (3,k), C(-3,1) and D (k,4) where lines AB

and CD are parallel then : K=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−2/7

2/7

−7/2

7/2

https://dl.doubtnut.com/l/_hm74FJ6JuPzl


8. If A is (1,-2), B (3,k), C(-3,1) and D(k,4) where lines AB

 CD then :k=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⊥

−
5

12

5/12

−12/5

12/5

https://dl.doubtnut.com/l/_1sTyckdoIOwL


9. If the point (1,1) lies on the line passing through

the points 

(a,0) and (0,b) then : =

A. -1

B. 0

C. 1

D. 

Answer: C

Watch Video Solution

+
1

a

1

b

1

ab

https://dl.doubtnut.com/l/_0E0EB3KX5NFc


10. The slope of the line which bisects the angles in

the first and third quadrants is

A. -1

B. 0

C. 1

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0kS0gbIxtFhu


11. The slope of the line which bisects the angles in

the second and fourth quadrants is

A. -1

B. 0

C. 1

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bie2HfxdwY0w


12. If A (1,-2), B (-2,3) and C(2,-5) are the vertices of 

ABC, then the equation of the median BE is

A. 7x+13y+47=0

B. 13x+7y+5=0

C. 7x-13y+5=0

D. none of these

Answer: B

Watch Video Solution

Δ

https://dl.doubtnut.com/l/_Xei4bo0mxVM5


13. The equation of the line which passes through

(4,7) and divides the join of (1,7) and (6,-3) internally

in the ratio 2:3, is

A. y=4x-9

B. x=4y-9

C. 4x+y=9

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_AeIOZ4mM39rP


14. The equation of the line having inclination 

and dividing the join of (-1,4) and (2,6) externally in

the ratio 2:1, is

A.  .x+y=13

B. (x-5) +y=8

C. x+ =8

D. none of these

Answer: B

Watch Video Solution

120∘

√3

√3

y√3

https://dl.doubtnut.com/l/_3w519m4trRWr


15. The area of the quadrilateral whose sides are

along the lines x=0, x=4,y=-3 and y=5 is

A. 12

B. 15

C. 20

D. 32

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_UllqucJhjAPd


16. The equation of the line through , which

makes equal intercepts on the axes is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

(1, 2)

x + y = 1

x + y = 2

x + y = 4

https://dl.doubtnut.com/l/_NRc1Gnc0CAz0


17. The equation of the line through , whose x-

intercept is double its intercepts on the axes is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(4, 1)

y −

x + 2y = 6

2x + y = 6

x + 2y + 6 = 0

https://dl.doubtnut.com/l/_lIXvTQmQdLKZ


18. The equation of the line through the origin

which bisects the portion of the line 3xy=12

intercepted between the axex is

A. 3x+y=0

B. y=3x

C. x=3y

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_XmXPMEgM2JHl


19. If (2,3) is the midpoint of the portion of a line

intercepted between the co-ordinate axes , then the

equation of the line is

A. 2x+3y=12

B. 2x+3y+12=0

C. 3x+2y=12

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vNMyTOudH0So


20. Find the equation of the straight line which

passes through the point
(-3, 8) and cuts off positive

intercepts on the coordinate axes whose sum is
7.

A. 8x-3y=24

B. 4x+3y=12

C. 

D. none of these

Answer: B

Watch Video Solution

3x + 8y = 24

https://dl.doubtnut.com/l/_GYRqOCFOCNE4


21. The equation of the line through (6,1) having x-

and y-intercepts eaual in magnitude but opposite in

sign is

A. x-y=5

B. y=x+5

C. x+y=5

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_8A3ABcDcsooU


22. The equation of the line having intercept 

, and parallel to the join of  and 

 is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y −

= − 7 (2, 3)

( − 3, 7)

5x + 4y + 28 = 0

4x + 5y + 35 = 0

4x + 5y + 28 = 0

https://dl.doubtnut.com/l/_D7srGwp9dFM9


23. The equation of the line having x- intercept =5/3,

and perendicular to the join of (5,-2) and (-1,3) is

A. 6x-5y=10

B. 5x-6y=10

C. 6x-5y+10=0

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_oE7Wmhhf6IYm


24. A line meets X-axis in A and Y-axis in B. If R (4,6) is

point on the line such that AR:RB=3:2, then the

equation of the line is

A. y=x+10

B. x+y+10=0

C. x+y=10

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_AhNYjoBQRcAr


25. The length of the perpendicular from the origin

on a line L is 3. If the perperdicular make an angle of

 with positive X-axis then the equation of line L

is

A.  .x+y=6

B. +6=0

C.  ,x+y+6=0

D. none of these

Answer: B

Watch Video Solution

240∘

√3

x + y√3

√3

https://dl.doubtnut.com/l/_maaHz15xAjQp
https://dl.doubtnut.com/l/_YXxic5nk4FJy


26. If the length of the perpendicular to a line L from

the origin is 8 and the perpendicular makes an

angle of  with the X-axis then the equation of

line L is

A. x+ =16

B. +y=16

C. x- +16=0

D. none of these

Answer: A

Watch Video Solution

60∘

y√3

x√3

y√3

https://dl.doubtnut.com/l/_YXxic5nk4FJy
https://dl.doubtnut.com/l/_1HbtZGZrYyBZ


27. If the length of the perpendicular to a line L from

the origin si  and the perperdicular to a makes

an angle of  with the X-axis then the equation

of line L is

A. x+y+10=0

B. x-y-10=0

C. y=x+10

D. none of these

Answer: C

Watch Video Solution

5√2

135∘

https://dl.doubtnut.com/l/_1HbtZGZrYyBZ
https://dl.doubtnut.com/l/_zZj0d6pEgm6U


28. If A is (  and B is , then :m 

AOB=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√3, 1) (√3, − 1)

an ≥ l

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_zZj0d6pEgm6U


29. If the line kx+4y=6 passes through the point of

intersection of the two lines 2x+3y=4 and 3x+4y=5,

then : k=

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_FEbEv0PWVXXX


30. If the line ky=x+1 passes through the point on

intersection of the two lines 2x-3y+5=0 and

3x+2y+1=0, then :k=

A. -1

B. 0

C. 1

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ui4u4z2lh6y4


31. The foot of the perpendicular from (1,2) on the

line x-3y+7=0 is

A. (5/4, 5/13)

B. (4/5, 13/5)

C. (4/5, 9/5)

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rgatvHkKJnrg


32. The foot of the perpendicular from (2,-5) on the

line 3x-4y+10=0 is

A. (-58/25, 19/25)

B. (58/25,-19/25)

C. (25/58,-25/19)

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2IhcMo3213cZ


33. Distance of the point (-2,-4) from the line

 is

A. 43959

B. 44048

C. 0

D. none of these

Answer: B

Watch Video Solution

− = 1
x

3

y

4

https://dl.doubtnut.com/l/_EQ8pPlQpHEEX


34. Find the equation of the line at a distance of 3

units from the origin and having inclination .

A. 

B. 

C. x+y=6

D. none of these

Answer: B

Watch Video Solution

120∘

√3. x ± y + 6 = 0

√3. x + y ± 6 = 0

https://dl.doubtnut.com/l/_i0XoDEULtxh7


35. A point of the X-axis which is at a unit distance

from the line 5x+12y=12 is

A. (1/5,0)

B. (5,0)

C. (17,0)

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_yFnxKz4LFi9O


36. If the perpendicular distance of the line (x/a)+

(y/b)=1 from the origin is  show that 

are in Harmonic Progression.

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: C

Watch Video Solution

p/√2 a2, p2, b2

https://dl.doubtnut.com/l/_qsiyihgh4aSZ


37. If  are the lengths of the perpendicular

form the orgin to the line

respectively then prove that 

A. 

B. m

C. 

D. 

Answer: C

Watch Video Solution

p1 and p2

x secθ + y cos ecθ = a and x cos θ − y sin θ = a cos 2θ

4p2
1 + p2

2 = a2

√m

m2

m4

https://dl.doubtnut.com/l/_MR3cSBYSnRQx
https://dl.doubtnut.com/l/_SQoYL20OsJAR


38. In relation to the line : , the point

(-2,-4) lies on

A. the line

B. the origin side of the line

C. the non- origin side of the line

D. none of these

Answer: B

Watch Video Solution

− = 1
x

3

y

4

https://dl.doubtnut.com/l/_SQoYL20OsJAR


39. In relation to the line : 7(x-2) =5(y+3), the point

(3,-2) lies on

A. the line

B. origin side of the line

C. non-origin side of the line

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1vxYb1ZPsXOR


40. If the line passing through (2,3) and (5,k) has

slope (5/3), then : k=

A. -1

B. 0

C. 8

D. 2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3rIbKH3Lv8oG


41. If the points (-3,4), (-14,12) and (8,k) are collinear

then :k

A. -1

B. -2

C. -3

D. -4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_6iB8uVyawrmI


42. If the point (3,k) lies on the line passing through

the points (-1,3) and (1,5) then :k=

A. -1

B. 3

C. 7

D. 2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_SYG16xD3NbN9


43. If the triangle whose vertices are A(4,3), B(6,-2)

and C(k,-3) is right -angled at A, then : K=

A. 3

B. 8

C. -11

D. -5

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OJWHbFqRTGpg


44. If A is (5,-3) and B is a point on the X-axis such

that the slope of line AB is (-2), then : B=

A. (7,2)

B. (7/2,0)

C. (0,7/2)

D. (2/7,0)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dyGDt3NyCSYE


45. If A is (-4,9) and B is a point on the Y-axis such

that the slope of the line AB is (-1), then : B

A. (0,1)

B. (0,3)

C. (5,0)

D. (0,5)

Answer: D

Watch Video Solution

≡

https://dl.doubtnut.com/l/_0BmTdc61GYmT


46. If A is (1,-2), B (3,k), C(-3,1) and D (k,4) where lines

AB and CD are parallel then : K=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−2/7

2/7

−7/2

7/2

https://dl.doubtnut.com/l/_tSW6ITe6kbvo


47. If A is (1,-2), B (3,k), C(-3,1) and D(k,4) where lines

AB  CD then :k=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

⊥

−
5

12

5/12

−12/5

12/5

https://dl.doubtnut.com/l/_k9rf89PzyqGp


48. If the point (1,1) lies on the line passing through

the points 

(a,0) and (0,b) then : =

A. -1

B. 0

C. 1

D. 

Answer: C

Watch Video Solution

+
1

a

1

b

1

ab

https://dl.doubtnut.com/l/_e2mJtszieWaN


49. The slope of the line which bisects the angles in

the first and third quadrants is

A. -1

B. 0

C. 1

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_s3CDG8GbUIEy


50. The slope of the line which bisects the angles in

the second and fourth quadrants is

A. -1

B. 0

C. 1

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VyrlpJrN4PMQ


51. If A (1,-2), B (-2,3) and C(2,-5) are the vertices of 

ABC, then the equation of the median BE is

A. 7x+13y+47=0

B. 13x+7y+5=0

C. 7x-13y+5=0

D. none of these

Answer: B

Watch Video Solution

Δ

https://dl.doubtnut.com/l/_ZIRTR31D4NvI


52. The equation of the line which passes through

(4,7) and divides the join of (1,7) and (6,-3) internally

in the ratio 2:3, is

A. y=4x-9

B. x=4y-9

C. 4x+y=9

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_dAjZbtL5OShC


53. The equation of the line having inclination 

and dividing the join of (-1,4) and (2,6) externally in

the ratio 2:1, is

A.  .x+y=13

B. (x-5) +y=8

C. x+ =8

D. none of these

Answer: B

Watch Video Solution

120∘

√3

√3

y√3

https://dl.doubtnut.com/l/_wNNit2WXIBWE


54. The area of the quadrilateral whose sides are

along the lines x=0, x=4,y=-3 and y=5 is

A. 12

B. 15

C. 20

D. 32

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DiNLBbcOE1fT


55. The equation of the line through (1,2), which

makes equal intercepts on the axes is

A. x+y=1

B. x+y=2

C. x+y=4

D. none of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_O2AbayBiXgh5


56. The equation of the line through (4,1), whose x-

intercept is double its y-intercepts on the axes is

A. x+2y=6

B. 2x+y=6

C. x+2y+6=0

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hJ1TzBFm27VJ


57. The equation of the line through the origin

which bisects the portion of the line 3x-y=12

intercepted between the axes is

A. 3x+y=0

B. y=3x

C. x=3y

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_WuCyAWxjf9ks


58. If (2,3) is the midpoint of the portion of a line

intercepted between the co-ordinate axes , then the

equation of the line is

A. 2x+3y=12

B. 2x+3y+12=0

C. 3x+2y=12

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rVhaOjVYJGbF


59. Find the equation of the straight line which

passes through the point
(-3, 8) and cuts off positive

intercepts on the coordinate axes whose sum is
7.

A. 8x-3y=24

B. 4x+3y=12

C. 

D. none of these

Answer: B

Watch Video Solution

3x + 8y = 24

https://dl.doubtnut.com/l/_QF4oRW314gUV


60. The equation of the line through (6,1) having x-

and y-intercepts eaual in magnitude but opposite in

sign is

A. x-y=5

B. y=x+5

C. x+y=5

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_E8CZPDDSF4pg


61. The equation of the line having y-intercept =-7,

and parallel to the join of (2,3) and (-3,7) is

A. 5x+4y+28=0

B. 4x+5y+35=0

C. 4x+5y+28=0

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6RAygmDDe15s


62. The equation of the line having x- intercept =5/3,

and perendicular to the join of (5,-2) and (-1,3) is

A. 6x-5y=10

B. 5x-6y=10

C. 6x-5y+10=0

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_QFrUBcESZxx1


63. A line meets X-axis in A and Y-axis in B. If R (4,6) is

point on the line such that AR:RB=3:2, then the

equation of the line is

A. y=x+10

B. x+y+10=0

C. x+y=10

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TJfdM2GZldaU


64. The length of the perpendicular from the origin

on a line L is 3. If the perperdicular make an angle of

 with positive X-axis then the equation of line L

is

A.  .x+y=6

B. +6=0

C.  ,x+y+6=0

D. none of these

Answer: B

Watch Video Solution

240∘

√3

x + y√3

√3

https://dl.doubtnut.com/l/_CkQGWeLZJZFt
https://dl.doubtnut.com/l/_PsBJ145wQvGa


65. If the length of the perpendicular to a line L from

the origin is 8 and the perpendicular makes an

angle of  with the X-axis then the equation of

line L is

A. x+ =16

B. +y=16

C. x- +16=0

D. none of these

Answer: A

Watch Video Solution

60∘

y√3

x√3

y√3

https://dl.doubtnut.com/l/_PsBJ145wQvGa
https://dl.doubtnut.com/l/_O5sSCKvRaPwW


66. If the length of the perpendicular to a line L from

the origin si  and the perperdicular to a makes

an angle of  with the X-axis then the equation

of line L is

A. x+y+10=0

B. x-y-10=0

C. y=x+10

D. none of these

Answer: C

Watch Video Solution

5√2

135∘

https://dl.doubtnut.com/l/_O5sSCKvRaPwW
https://dl.doubtnut.com/l/_nsRweoIaLUDP


67. If A is (  and B is , then :m 

AOB=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√3, 1) (√3, − 1)

an ≥ l

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_nsRweoIaLUDP


68. If the line kx+4y=6 passes through the point of

intersection of the two lines 2x+3y=4 and 3x+4y=5,

then : k=

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_RsaJcHz1TXrh


69. If the line ky=x+1 passes through the point on

intersection of the two lines 2x-3y+5=0 and

3x+2y+1=0, then :k=

A. -1

B. 0

C. 1

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_b6u22dTcBrbu


70. The foot of the perpendicular from (1,2) on the

line x-3y+7=0 is

A. (5/4, 5/13)

B. (4/5, 13/5)

C. (4/5, 9/5)

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_SDXGZFe3bLCT


71. The foot of the perpendicular from (2,-5) on the

line 3x-4y+10=0 is

A. (-58/25, 19/25)

B. (58/25,-19/25)

C. (25/58,-25/19)

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_CqeVULaL0Opn


72. Distance of the point (-2,-4) from the line

 is

A. 43959

B. 44048

C. 0

D. none of these

Answer: B

Watch Video Solution

− = 1
x

3

y

4

https://dl.doubtnut.com/l/_H10xYu9jsPfj


73. Find the equation of the line at a distance of 3

units from the origin and having inclination .

A. 

B. 

C. x+y=6

D. none of these

Answer: B

Watch Video Solution

120∘

√3. x ± y + 6 = 0

√3. x + y ± 6 = 0

https://dl.doubtnut.com/l/_N1sas7NMjY8K


74. A point of the X-axis which is at a unit distance

from the line 5x+12y=12 is

A. (1/5,0)

B. (5,0)

C. (17,0)

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WZzSiGMYU6Ju


75. If the perpendicular distance of the line (x/a)+

(y/b)=1 from the origin is  show that 

are in Harmonic Progression.

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: C

Watch Video Solution

p/√2 a2, p2, b2

https://dl.doubtnut.com/l/_LYifBMqjoyod


76. If  are the lengths of the perpendicular

form the orgin to the line

respectively then prove that 

A. 

B. m

C. 

D. 

Answer: C

Watch Video Solution

p1 and p2

x secθ + y cos ecθ = a and x cos θ − y sin θ = a cos 2θ

4p2
1 + p2

2 = a2

√m

m2

m4

https://dl.doubtnut.com/l/_wbeilWOXkrbe
https://dl.doubtnut.com/l/_HNkg6FOAZGNS


77. In relation to the line : , the point

(-2,-4) lies on

A. the line

B. the origin side of the line

C. the non- origin side of the line

D. none of these

Answer: B

Watch Video Solution

− = 1
x

3

y

4

https://dl.doubtnut.com/l/_HNkg6FOAZGNS


Miscellaneous Mcqs

78. In relation to the line : 7(x-2) =5(y+3), the point

(3,-2) lies on

A. the line

B. origin side of the line

C. non-origin side of the line

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xm1O4I6h9JXJ


1. If the point  is equidistant from the points 

 then

A. ax=by

B. bx=ay

C. ax=-by

D. bx=-ay

Answer: B

Watch Video Solution

P (p, q)

A(a + b, b − a) and B(a − b, a + b),

https://dl.doubtnut.com/l/_sqPlKF1hx5oM


2. Prove that the points (a+b+c),(b,c+a) and (c,a+b)

are collinear.

A. vertices of an equilateral triangle

B. vertices of a right angled triangle

C. concyclic

D. collinear

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8uE1bfYTxlYY


3. Points A (a,3) and C (5,b) are opposite vertices of a

rectangle ABCD. If the other two vertices lie on the

line y=2x +c which passes through the point (a,b),

then : c=

A. -7

B. -4

C. 0

D. 7

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5nHDRhcm8SGi
https://dl.doubtnut.com/l/_nDtTE4weFJx2


4. If a,b,c are non-zero real numbers in H.P then the

line  always passes through a

fixed point whose coordinates are

A. (1,-2)

B. (1,-1/2)

C. (-1,2)

D. (-1,-2)

Answer: A

Watch Video Solution

+ + = 0
x

a

y

b

1

c

https://dl.doubtnut.com/l/_nDtTE4weFJx2


5. Let A (2,-3) and B(-2,1) be vertices of a triangle ABC.

If the centroid of this triangle moves on line 2x + 3y

= 1, then the locus of the vertex C is the line :

A. 3x+2y=5

B. 2x-3y=7

C. 2x+3y=9

D. 3x-2y=3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_oTqBG8CaFv4D


6. For any real values of a,b,c such that 3a, +2b+4c=0,

line ax+by+c=0 passes through the fixed point

whose coordinates are

A. (3,2)

B. (2,4)

C. (3,4)

D. (3/4,1/2)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_e4u0bPAftN3Y


7. The equations of sides of a triangle are x+3y=0 ,

4x-3y=5 and 3x-y=0. Then the line 6x-7y=0 passes

through the __________ of the triangle.

A. incentre

B. centroid

C. circumcentre

D. orthocentre

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_7bnk04cz1Ok8


8. Ifa,b,c are in A.P., a,x,b,are in G.P and b,y,c are also

in G.P then the point (x,y) lies on

A. a line

B. a circle

C. an ellipse

D. a hyperbola

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xXlKsY2ZJmtA


9. If we reduce 
 to the form 


then find the value of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x + 3y + 7 = 0

x cosα + y sinα = p, p.

7

2√3

7
3

3√7
2

7

3√2

https://dl.doubtnut.com/l/_uCVq7ZnTICvk


10. The length of perpendicular from the point (

) upon the striaght line y = x 

 (where c gt 0) is

A. c

B. c. 

C. c.cos 

D. c.

Answer: C

Watch Video Solution

a cos ∝ , a sin ∝

tan ∝ + c

sin2 α

α

sec2 α

https://dl.doubtnut.com/l/_UC2GpPqIwY7g


11. the line  cuts the -axes at .the

equation of the line passes through point  and

perpendicular to the line is:

A. x+y=ab

B. x+y=a+b

C. ax+by=

D. bx+ay=

Answer: C

Watch Video Solution

− = 1
x

a

y

b
x P

P

a2

a2

https://dl.doubtnut.com/l/_0SXbBWQ7ymeQ


12. If (-4,5) is a vertex of a square and one of its

diagonal is 7x-y+8-0.Find the equation of other

diagonal

A. x+3y=21

B. 2x=3y=7

C. x+7y=31

D. 2x+3y=21

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QDdXCcsRRkJM


13. If a,b,c  0, then area of the triangle formed by

the line ax+by+c=0 and coordinatte axes is

A. 

B. 

C. 

D. 0

Answer: C

Watch Video Solution

>

a2

2abc

b2

2abc

c2

2abc

https://dl.doubtnut.com/l/_YtR1wazXlsNM


14. If the line ax+by+c=0 always passes through the

fixed point (1,-2) then : a,b,c are in

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ZTDxfcWwoP41


15. A square of area 25 sq.units is formed by taking

two sides as  then

A. 5

B. 1

C. 25

D. 20

Answer: C

Watch Video Solution

3x + 4y = k1 and 3x + 4y = k2

|k1 − k2| =

https://dl.doubtnut.com/l/_IFCeHxeZXtWk


16. Segment joining (1,2) and (-2,1) is divided by the

line 3x+4y=7 in the ration

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3: 4

4: 3

9: 4

4: 9

https://dl.doubtnut.com/l/_eb1vBooxB90T


17. The medians AD and BE of the triangle with

vertices A(0, b), B(0, 0) and C(a, 0) are mutually

perpendicular if

A. b=

B. a=

C. b=

D. a=

Answer: B

Watch Video Solution

a√2

b√2

−a√2

5b√2

https://dl.doubtnut.com/l/_7Z57tvXsc6Iy


18. A triangle are  and . If distance

between circumcentre and orthocenter and

distance between circumcentre and centroid are 

and  unit respectively, then  lies on:

A. 

B. 2

C. 

D. 1

Answer: C

Watch Video Solution

(6, 0). (0, 6) (6, 6)

λ

u (λ, u)

2√2

3√2

https://dl.doubtnut.com/l/_Dlz2ohUn5lLm
https://dl.doubtnut.com/l/_XBxqqdaNqUjR


19. If a vertex of a triangle is 
 , and the middle

points of two sides passing
 through it are 

and 
 then find
 the centroid and the incenter

of the triangle.

A. (5/3,3)

B. (5/3,-3)

C. (-5/3,3)

D. (-5/3,-3)

Answer: A

Watch Video Solution

(1, 1)

−2, 3)

(5, 2),

https://dl.doubtnut.com/l/_XBxqqdaNqUjR
https://dl.doubtnut.com/l/_5B0vDnae1E3G


20. Find the points on the line  that lies

at a unit distance from the line .

A. (5,-1)

B. (-7,11)

C. (3,-1)

D. (7,-11)

Answer: B

Watch Video Solution

x + y = 4

4x + 3y = 10

https://dl.doubtnut.com/l/_5B0vDnae1E3G


21. A rectangle has two opposite vertices at the

points (1,2) and (5,5). If the other vertices lie on the

line x=3, then their coordinates are

A. (3,-1), (3,-6)

B. (3,1), (3,5)

C. (3,2), (3,6)

D. (3,1) ,(3,6)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_x1nN9Uy8A4aU


22. find the equation of the straight line passing

through the origin and the middle point of

intercept of the line between the

axes

A. ax+by=0

B. ax-by=0

C. bx+ay=0

D. bx=ay=0

Answer: B

Watch Video Solution

ax + by + c = 0

https://dl.doubtnut.com/l/_lA8jqUvCz9rK
https://dl.doubtnut.com/l/_RRGe8uYbkhlO


23. Diagonals of a parallelogram PQRS must be a

A. rectangle

B. square

C. cyclic quadrilateral

D. rhombus

Answer: D

View Text Solution

24. A line passes through (2,2) and is perpendicular

to the line , is3x + y = 3

https://dl.doubtnut.com/l/_RRGe8uYbkhlO
https://dl.doubtnut.com/l/_YRUC6PCrk6qp


A. 3x + y = 8

B. 3x - y = 4

C. x - 3y = -4

D. x + 3y = 8

Answer: C

Watch Video Solution

25. The distance of the mid point of the line joining

the points  from the

origin is

(a sin θ, 0) and (0, a cos θ)

https://dl.doubtnut.com/l/_YRUC6PCrk6qp
https://dl.doubtnut.com/l/_CZbH7MekE8C0


A. 

B. 

C. a

D. a

Answer: A

Watch Video Solution

a

2

(sin θ + cos θ)
a

2

(sin θ + cos θ)

26. If a,b,c  0 and the line ax +cy=2b makes a

triangle of area 2 with the axes then :

A. a,b,c are in G.P.

>

https://dl.doubtnut.com/l/_CZbH7MekE8C0
https://dl.doubtnut.com/l/_j41TdT5Rm2sq


B. a,-b,-c are in G.P.

C. a,2b,c are in G.P.

D. a,-2b,c are in G.P.

Answer: A

Watch Video Solution

27. If  are the lenghts of perpendiculars

from origin to the lines x. sec a+y . Csc a=2a and

x.cos +y. sin  =a cos 2 ,

A. 

P1andP2

α α α

4 sin2 4α

https://dl.doubtnut.com/l/_j41TdT5Rm2sq
https://dl.doubtnut.com/l/_kJmwZzrw1YPE


B. 4 

C. 4 

D. 4 

Answer: C

View Text Solution

cos2 4α

csc2 4α

sec2 4α

28. If 
 and 
 are the

vertices of a triangle 
 , find the
 length of the

median through 
.

A. 5

A( − 1,  3),   B(1,   − 1) C(5,  1)

ABC

A

https://dl.doubtnut.com/l/_kJmwZzrw1YPE
https://dl.doubtnut.com/l/_C1Xsnsf8wrH9


B. 4

C. 1

D. 3

Answer: A

Watch Video Solution

29. The equation of the locus of the point whose

distance from the x-axis is twice that of from the y-

axis is :

A. y=x

https://dl.doubtnut.com/l/_C1Xsnsf8wrH9
https://dl.doubtnut.com/l/_k87dc2QlDZR2


B. y=2x

C. x=y

D. x=2y

Answer: D

Watch Video Solution

30. The points (3,3), (h,0) and (0,k) are collinear if

A. 

B. 

C. 

+ + =
1

h

1

k

1

3

− =
1

h

1

k

1

3

− =
1

k

1

h

1

3

https://dl.doubtnut.com/l/_k87dc2QlDZR2
https://dl.doubtnut.com/l/_U4O41fruW2CM


D. 

Answer: A

Watch Video Solution

=
1

h

1

k

31. if  are the exterimities of the

diagonal of the parallelogram and  is

itts third vertex then find fourth vertex,

A. (1,0)

B. (-1,0)

C. (0,1)

(3, − 4), ( − 6, 5)

( − 2, − 1)

https://dl.doubtnut.com/l/_U4O41fruW2CM
https://dl.doubtnut.com/l/_hyJJoQka1MxV


D. (0,-1)

Answer: B

Watch Video Solution

32. If  are

three given points, then the locus of the points S

satisfying the relation,  is -

A. a line || to X-axis

B. a line || to Y-axis

C. circle with centre at origin

P = (1, 0); Q = ( − 1.0)&R = (2, 0)

SQ2 + SR2 = 2SP 2

https://dl.doubtnut.com/l/_hyJJoQka1MxV
https://dl.doubtnut.com/l/_1hJp4wSnzDY7


D. none of these

Answer: B

Watch Video Solution

33. The distance of the mid point of the line joining

the points  from the

origin is

A. a

B. 

C. a

(a sin θ, 0) and (0, a cos θ)

(sin θ + cos θ)
a

2

(sin θ + cos θ)

https://dl.doubtnut.com/l/_1hJp4wSnzDY7
https://dl.doubtnut.com/l/_tjyh1g63rlSK


D. 

Answer: D

Watch Video Solution

a

2

34. If a triangle has its orthocentre at (1,1) and

circumcentre at (3/2,3/4) then the coordinate of the

centroid of triangle is

A. 

B. 

C. 

( , − )
4
3

5

6

( , )
4
3

5

6

( − , )
4
3

5

6

https://dl.doubtnut.com/l/_tjyh1g63rlSK
https://dl.doubtnut.com/l/_JEwvjOp5Q2gl


D. 

Answer: B

Watch Video Solution

( − , − )
4
3

5

6

35. Find the orthocentre of the triangle whose

vertices are 
and 

A. 

B. (0,0)

C. 

D. 

(0, 0), (3, 0), (0, 4).

( , 2)
3

4

(1, )
4
3

(2, )
3

2

https://dl.doubtnut.com/l/_JEwvjOp5Q2gl
https://dl.doubtnut.com/l/_DxOrqiDCNzkW


Answer: B

Watch Video Solution

36. If the orthocentre and centroid of a triangle are

(-3, 5) and (3, 3) then its circumcentre is

A. (0,4)

B. (6,-2)

C. (6,2)

D. (0,8)

Answer: C

https://dl.doubtnut.com/l/_DxOrqiDCNzkW
https://dl.doubtnut.com/l/_U9WgEMQlZO0d


Watch Video Solution

37. The medians AD and BE of the triangle with

vertices A(0, b), B(0, 0) and C(a, 0) are mutually

perpendicular if

A. a

B. b=

C. ab=1

D. a=

Answer: D

Watch Video Solution

=
b

2

a

2

±√2b

https://dl.doubtnut.com/l/_U9WgEMQlZO0d
https://dl.doubtnut.com/l/_XfB51Nv0bVED


38. The point which divides the join of (1,2) and(3,4)

externally in the
ratio 1:1
a. lies in the III quadrant
b.

lies in the II quadrant
 c. lies in the I quadrant
 d.

cannot be found

A. lies in the third quadrant

B. lies in the second quadrant

C. lies in the first quadrant

D. cnnont be found

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_XfB51Nv0bVED
https://dl.doubtnut.com/l/_hnmj118qsKuQ


39. The points , .  and 

 are

A. vertices of a rectangle

B. vertices of a parallelogram

C. collinear

D. none of these

Answer: C

Watch Video Solution

( − a, − b) (0, 0) (a, b)

(a2, a3)

https://dl.doubtnut.com/l/_hnmj118qsKuQ
https://dl.doubtnut.com/l/_Nk81XrOApOAu


40. If A and B are two points on the line joining P

(2,5) and Q (4,-7) such that PA =AB=BQ then the mid

point of seg AB is

A. (3,1)

B. (3,-1)

C. (-3,1)

D. (-1,3)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_114ixRcuEKyw


41. A triangle with vertices

, is

A. isosceles and right- angled

B. isosceles but not right -angled

C. right-angled but not isosceles

D. neither isosceles nor right -angled

Answer: A

Watch Video Solution

(4, 0), ( − 1, − 1), (3, 5)

https://dl.doubtnut.com/l/_qWuFo5HDal2f


42. If B (1,3) is equidistant form A (6,1) and C (x,8)

then : x =

A. 3 or -5

B. 

C. 

D. 3 or 5

Answer: B

Watch Video Solution

−3 or 5

−3 or 5

43. The points (1,5) , (2,4) and (3,3) are

https://dl.doubtnut.com/l/_qmvDYbyoduNu
https://dl.doubtnut.com/l/_iVHZLP23rb0I


A. vertices of an equilateral triangle

B. vertices of an isosceles triangle

C. vertices of a right-angle triangle

D. collinear

Answer: D

Watch Video Solution

44. If A  (0,0) and B  (4,-3) then the locus of

the moving point P such that 2 PA = 3PB is

A. +72x+54y+225=0

≡ ≡

5x2 + 5y2

https://dl.doubtnut.com/l/_iVHZLP23rb0I
https://dl.doubtnut.com/l/_hqxkXRauB1Kn


B. -72x-54y+225=0

C. -72x+54y+225=0

D. none of these

Answer: C

Watch Video Solution

5x2 + 5y2

5x2 + 5y2

45. If the points (x,y), (x',y') and (x'-x',y-y') are collinear

then

A. xy=x'y'

B. xx'=yy'

https://dl.doubtnut.com/l/_hqxkXRauB1Kn
https://dl.doubtnut.com/l/_ak4VL2lodnH3


C. xy'=x'y

D. none of these

Answer: C

Watch Video Solution

46. The vertices of a triangle are

 The triangle is :

A. isosceles and right- angled

B. always isosceles

C. right- angled

(2, 4), B(2, 6), C(2 + √3, 5).

https://dl.doubtnut.com/l/_ak4VL2lodnH3
https://dl.doubtnut.com/l/_vWbht6ECe28D


D. equilateral

Answer: D

Watch Video Solution

47. The triangle with vertices (0,0), (2,0) and (0,3) is

A. acute-angled

B. isosceles

C. right-angled

D. equilateral

Answer: C

https://dl.doubtnut.com/l/_vWbht6ECe28D
https://dl.doubtnut.com/l/_N6P3tAdEtE3p


Watch Video Solution

48. For what value of 
 are the
 points

collinear?

A. 

B. 

C. 1

D. -1

Answer: D

Watch Video Solution

k

(k, 2 − 2k), ( − k + 1, 2k)and( − 4 − k, 6 − 2k)

1

2

−
1

2

https://dl.doubtnut.com/l/_N6P3tAdEtE3p
https://dl.doubtnut.com/l/_PN14Pqx0lBos


49. If the point P(x, y) be equidistant from the points

 and  then

A. ax=by

B. bx=ay

C. ax=-by

D. bx=-ay

Answer: B

Watch Video Solution

A(a + b, a − b) B(a − b, a + b)

https://dl.doubtnut.com/l/_PN14Pqx0lBos
https://dl.doubtnut.com/l/_BkAOGY9DsQeg


50. If 
 and 
 are the

vertices of a parallelogram 
 then



 (b) 
 
 (d) 

A. a=2, b=4

B. a=3, b=4

C. a=2,b=3

D. a=3, b=5

Answer: C

Watch Video Solution

P (1, 2)Q(4, 6), R(5, 7), S(a, b)

PQRS,

a = 2, b = 4 a = 3, b = 4 a = 2, b = 3

a = 1 or b = − 1

https://dl.doubtnut.com/l/_yhb8ehGbZ8td
https://dl.doubtnut.com/l/_aSFrjXGyfyI2


51. Prove that the line 
 
 divides the

join of points (3,-1) and (8,9) in the ratio 2:3.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y − x + 2 = 0

2: 3

3: 2

−2: 3

−3: 2

https://dl.doubtnut.com/l/_aSFrjXGyfyI2


52. The orthocentre of the triangle formed by the

lines  , is

A. (-2-1)

B. (-2, 1)

C. (0,0)

D. none of these

Answer: C

Watch Video Solution

xy = 0 and x + y = 1

https://dl.doubtnut.com/l/_jJavzBKom9iu


53. Find the equation of the straight line which

makes an angle of  with the positive direction of

x-axis and which cuts and intercept of length  on

then negative direction of y-axis.

A. (2- x+y-4=0

B. (2- x-y-4=0

C. (2- xy-4=0

D. (2+ x+y+4=0

Answer: B

Watch Video Solution

15∘

4

√3)

√3)

√3)

√3

https://dl.doubtnut.com/l/_Nq6HEOe3LCUA
https://dl.doubtnut.com/l/_p2UrTAq0DYy6


54. The equation of the straight line cutting off an

no intercept 8 on x-axis and making an angle of 

with the positive direction of y -axis is

A. x- y=8

B. x-  y=8

C. y= x+8

D. none of these

Answer: B

Watch Video Solution

60∘

√3

√3

√3

https://dl.doubtnut.com/l/_p2UrTAq0DYy6


55. A rectangle has two opposite vertices at the

points (1,2) and (5,5). If the other vertices lie on the

line x=3, then their coordinates are

A. (3,-1), (3,-6)

B. (3,1), (3,5)

C. (3,2), (3,6)

D. (3,1), (3,6)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_i0QD6HBneFDA


56. The equation of the line which passes through

the point (3,4) and whos y-intercept is twice its x-

intercept, is

A. 2x-y=0

B. x+2y=10

C. 2x+y=10

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BcerekvNY37o


57. Find the equation of the straight line whose

intercepts on X-axis and
Y-axis are respectively twice

and thrice of those by the line 

A. 9x+8y=72

B. 9x-8y=72

C. 8x+9y=72

D. 9y-8x=72

Answer: A

Watch Video Solution

3x + 4y = 12.

https://dl.doubtnut.com/l/_aV0tZYqoFU7y


58. find the equation of the straight line passing

through the origin and the middle point of

intercept of the line between the

axes

A. ax+by=0

B. ax-by=0

C. bx+ay=0

D. bx-ay=0

Answer: B

Watch Video Solution

ax + by + c = 0

https://dl.doubtnut.com/l/_pUAisMJ2lqLW
https://dl.doubtnut.com/l/_8SDgynlpQQjQ


59. Find the equation of the straight line upon

which the length of
 perpendicular from origin is


units and this perpendicular makes an angle of


with the positive direction of x-axis.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

3√2

750

(√3 − 1)x + (√3 + 1)y − 12 = 0

(√3 − 1)x + (√3 + 1)y + 12 = 0

(√3 + 1)x + (√3 − 1)y − 12 = 0

https://dl.doubtnut.com/l/_8SDgynlpQQjQ
https://dl.doubtnut.com/l/_hAJo1haTAerz


60. Find the angle between  and the line

joining points (1,1) and (-3,4)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y = 3

tan− 1( )
3

7

π − tan− 1( )
3

7

tan− 1( )
1

7

π − tan− 1( )
1

7

https://dl.doubtnut.com/l/_hAJo1haTAerz


61. The equation of the line passing through (1,-2)

and parallel to the line 8x-4y+7=0 is

A. 2x+y-4=0

B. 2x-y+4=0

C. 2x-y-4=0

D. 2x-y+6=0

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rQ8Z1iswc0bB


62. The equation of the line passing through (2,-4)

and perpendicular form the point (2,4) on the line

x+y=1 is

A. x+2y+6=0

B. x-2y+6=0

C. 2x+y+6=0

D. 2x-y+6=0

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_muTjKSBlkmeq


63. · The co-ordinates of foot of the perpendicular

from the point on the line  are:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2, 4) x + y = 1

( , )
1

2

3

2

( − , )
1

2

3

2

( , )
4
3

1

2

( , − )
3

4

1

2

https://dl.doubtnut.com/l/_4gQTCfQpyii9


64. Find coordinates of the foot of perpendicular,

image and equation of perpendicular drawn from

the point  to the line 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(2, 3) y = 3x − 4.

( − , )
1

10
37
10

( , − )
1

10
37
10

( − , )
1

10
37
10

( , )
1

10
37
10

https://dl.doubtnut.com/l/_JaDxIdLcKdrS


65. The value of k such that the lines

 and 

 are concurrent is

A. 7

B. -7

C. 5

D. -5

Answer: B

Watch Video Solution

2x − 3y + k = 0, 3x − 4y − 13 = 0

8x − 11y − 33 = 0

https://dl.doubtnut.com/l/_bZ9NARUbB2v2


66. A line passes through the point  and is

perpendicular to the line  then its -

intercept is

A. 

B. 

C. 1

D. 

Answer: D

Watch Video Solution

(2, 2)

3x + y = 3, y

1

3

2

3

4
3

https://dl.doubtnut.com/l/_BAqGGEUbcYca


67. A square is constructed on the portion of

, which is intercepted between the axes

on the side of the line away from origin. The

equations to the diagonals of the square are

A. x=5, y=-5

B. x=-5 , y=5

C. x=5, y=5

D. x-y=5 , x-y=-5

Answer: C

Watch Video Solution

x + y = 5

https://dl.doubtnut.com/l/_VuBgPnoq2ON4
https://dl.doubtnut.com/l/_vYGTgEk8kwdi


68. The equation of the line with gradient 

which is concurrent with the lines 

and 

A. 2y-3x-2=0

B. 3x+2y-2=0

C. 3x+2y-63=0

D. none of these

Answer: B

Watch Video Solution

−
3

2

4x + 3y − 7 = 0

8x + 5y − 1 = 0

https://dl.doubtnut.com/l/_vYGTgEk8kwdi


69. The equations  and 

 represent the same straight line if

and only if

A. 

B. c=f

C. 

D. a=d, b=e, c=f

Answer: C

Watch Video Solution

ax + by + c = 0

dx + ey + f = 0

=
a

d

b

e

= =
a

d

b

e

c

f

https://dl.doubtnut.com/l/_LXEMApS1d1cv


70. Let 
 be the median of the
 triangle with

vertices 
 Then

equation of the
 line passing through 
 and

parallel to 
 is
 



 


A. 2x-9y-7=0

B. 2x-9y-11=0

C. 2x+9y-11=0

D. 2x+9y-7=0

Answer: D

PS

P (2, 2), Q(6, − 1)andR(7, 3)

(1, − 1)

PS 2x − 9y − 7 = 0

2x − 9y − 11 = 0 2x + 9y − 11 = 0

2x + 9y + 7 = 0

https://dl.doubtnut.com/l/_aw3R7c4FYjxc


Watch Video Solution

71. If the lines ax+12y+1=0 bx+13y+1=0 and

cx+14y+1=0 are concurrent then a,b,c are in

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_aw3R7c4FYjxc
https://dl.doubtnut.com/l/_XkJlWKj0hDj8
https://dl.doubtnut.com/l/_q3HCOeJ8LYjl


72. If (-4,5) is a vertex of a square and one of its

diagonal is 7x-y+8-0.Find the equation of other

diagonal

A. 7x-y+23=0

B. x+7y=31

C. x-7y=31

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_q3HCOeJ8LYjl


73. The new co-ordinates of the point (4,5) when the

origin is shified to the point (1,-2) is

A. (5,3)

B. (3,5)

C. (3,7)

D. (7,3)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nNq79eohMeEH


74. If the sum of reciprocals of x-and y-inercepts of a

line is a constant k then the line passes through the

fixed point whose co-ordinates are

A. (k,k)

B. 

C. (k,-k)

D. (-k,-k)

Answer: B

View Text Solution

( , )
1

k

1

k

https://dl.doubtnut.com/l/_otNcuRaoNpcg


75. the lines  for

different values of  passes trough the fixed

point is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(p + 2q)x + (p − 3q)y = p − q

p&q

( , )
3

2

5

2

( , )
2

5

2

5

( , )
3

5

3

5

( , )
2

5

3

5

https://dl.doubtnut.com/l/_ZlBW0FEe7EmD


76. Show that the straight line

 for different

values of a and b passes through the fixed point .

Find that point

A. (2,1)

B. (2,-1)

C. (-2,1)

D. (-2,-1)

Answer: B

Watch Video Solution

x(a + 2b) + y(a + 3b) = (a + b)

https://dl.doubtnut.com/l/_Pro4mhkBsMOL
https://dl.doubtnut.com/l/_C2vXy0VdmmzF


77. The diagonals of a parallelogram ABCD are along

are the lines x+3y=4 and 6x-2y=7. Then ABCD must be

a

A. rectangle

B. kite

C. cyclic quadrilateral

D. rhombus

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_C2vXy0VdmmzF


78. If a+b+c=0 then the line 3ax+by+2c=0 passes

through the fixed point

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2, )
2

3

( , 2)
2

3

(2, )
2

3

( , )
2

3

2

3

https://dl.doubtnut.com/l/_6O2iVd8SvIyG


79. Equation of a straight line passing through the

point of intersection of

 are

perpendicular to one of them is

A. x+y+3=0

B. x+y-3=0

C. x-3y-5=0

D. x+3y+5=0

Answer: B

Watch Video Solution

x − y + 1 = 0 and 3x + y − 5 = 0

https://dl.doubtnut.com/l/_kOTOfC0xU5Bt
https://dl.doubtnut.com/l/_MAsURESkAiXL


80. The lines

will be perpendicular, if :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x cosα + y sinα = P1 and x cos β + y sinβ = P2

α =
π

2

α = β

α ± β =
π

2

|α − β| =
π

2

https://dl.doubtnut.com/l/_MAsURESkAiXL


81. If the point P(x, y) is equidistant from the points

A(a + b, b-a) and B(a-b, a + b). Prove that bx = ay.

A. ax=by

B. bx=ay

C. ax=-by

D. bx=-ay

Answer: B

Watch Video Solution

82. The points  and (a, b + c), (b, c + a) (c, a + b)

https://dl.doubtnut.com/l/_2lmm7VUIpz42
https://dl.doubtnut.com/l/_uggVYDmuoYXZ


A. vertices of an equilateral triangle

B. vertices of a right angled triangle

C. concyclic

D. collinear

Answer: D

Watch Video Solution

83. Points A (a,3) and C (5,b) are opposite vertices of

a rectangle ABCD. If the other two vertices lie on the

line y=2x +c which passes through the point (a,b),

then : c=

https://dl.doubtnut.com/l/_uggVYDmuoYXZ
https://dl.doubtnut.com/l/_Qnbg4jOOUmzk


A. -7

B. -4

C. 0

D. 7

Answer: A

Watch Video Solution

84. If 
 are in harmonic progression, then the

straight line 
 always passes

through a fixed point. Find that point.

a, b, c

(( )) + ( ) = 0
x

a y

b

l

c

https://dl.doubtnut.com/l/_Qnbg4jOOUmzk
https://dl.doubtnut.com/l/_VqCtugpufpEg


A. (1,-2)

B. (1,-1/2)

C. (-1,2)

D. (-1,-2)

Answer: A

Watch Video Solution

85. Let A (2,-3) and B(-2,1) be vertices of a triangle

ABC. If the centroid of this triangle moves on line 2x

+ 3y = 1, then the locus of the vertex C is the line :

https://dl.doubtnut.com/l/_VqCtugpufpEg
https://dl.doubtnut.com/l/_WJBVCRZrgxyF


A. 3x+2y=5

B. 2x-3y=7

C. 2x+3y=9

D. 3x-2y=3

Answer: C

Watch Video Solution

86. For any real values of a,b,c such that 3a,

+2b+4c=0, line ax+by+c=0 passes through the fixed

point whose coordinates are

https://dl.doubtnut.com/l/_WJBVCRZrgxyF
https://dl.doubtnut.com/l/_DZCexXW542Ms


A. (3,2)

B. (2,4)

C. (3,4)

D. (3/4,1/2)

Answer: D

Watch Video Solution

87. The equations of sides of a triangle are x+3y=0 ,

4x-3y=5 and 3x-y=0. Then the line 6x-7y=0 passes

through the __________ of the triangle.

https://dl.doubtnut.com/l/_DZCexXW542Ms
https://dl.doubtnut.com/l/_uWo5EQmrI7nd


A. incentre

B. centroid

C. circumcentre

D. orthocentre

Answer: D

Watch Video Solution

88. Ifa,b,c are in A.P., a,x,b,are in G.P and b,y,c are also

in G.P then the point (x,y) lies on

A. a line

https://dl.doubtnut.com/l/_uWo5EQmrI7nd
https://dl.doubtnut.com/l/_MgFVYHIRkTc0


B. a circle

C. an ellipse

D. a hyperbola

Answer: B

Watch Video Solution

89. If we reduce 
 to the form 


 then the value of 
 is


(b) 
(c) 
(d) 

A. 

3x + 3y + 7 = 0

x cosα + y sinα = p, p
7

2√3
7
3

3√7
2

7

3√2

7

2√3

https://dl.doubtnut.com/l/_MgFVYHIRkTc0
https://dl.doubtnut.com/l/_kBkz8T2K0Duq


B. 

C. 

D. 

Answer: D

Watch Video Solution

7
3

3√7
2

7

3√2

90. The length of perpendicular from the point (

) upon the striaght line y = x 

 (where c gt 0) is

A. c

a cos ∝ , a sin ∝

tan ∝ + c

https://dl.doubtnut.com/l/_kBkz8T2K0Duq
https://dl.doubtnut.com/l/_0SFov7Js2pTQ


B. c. 

C. c.cos 

D. c.

Answer: C

Watch Video Solution

sin2 α

α

sec2 α

91. the line  cuts the -axes at .the

equation of the line passes through point  and

perpendicular to the line is:

A. x+y=ab

− = 1
x

a

y

b
x P

P

https://dl.doubtnut.com/l/_0SFov7Js2pTQ
https://dl.doubtnut.com/l/_d4KaMmB1G9WU


B. x+y=a+b

C. ax+by=

D. bx+ay=

Answer: C

Watch Video Solution

a2

a2

92. If (-4,5) is a vertex of a square and one of its

diagonal is 7x-y+8-0.Find the equation of other

diagonal

A. x+3y=21

https://dl.doubtnut.com/l/_d4KaMmB1G9WU
https://dl.doubtnut.com/l/_MyFPH1fd8EXS


B. 2x=3y=7

C. x+7y=31

D. 2x+3y=21

Answer: C

Watch Video Solution

93. If a,b,c  0, then area of the triangle formed by

the line ax+by+c=0 and coordinatte axes is

A. 

B. 

>

a2

2abc

b2

2abc

https://dl.doubtnut.com/l/_MyFPH1fd8EXS
https://dl.doubtnut.com/l/_K4zeWMOZ0nfN


C. 

D. 0

Answer: C

Watch Video Solution

c2

2abc

94. If the line ax+by+c=0 always passes through the

fixed point (1,-2) then : a,b,c are in

A. A.P.

B. G.P.

C. H.P.

https://dl.doubtnut.com/l/_K4zeWMOZ0nfN
https://dl.doubtnut.com/l/_C7ceTEOycI2c


D. none of these

Answer: A

Watch Video Solution

95. A square of area 25 sq.units is formed by taking

two sides as  then

A. 5

B. 1

C. 25

3x + 4y = k1 and 3x + 4y = k2

|k1 − k2| =

https://dl.doubtnut.com/l/_C7ceTEOycI2c
https://dl.doubtnut.com/l/_o5ToMWAIZKbd


D. 20

Answer: C

Watch Video Solution

96. Segment joining (1,2) and (-2,1) is divided by the

line 3x+4y=7 in the ration

A. 

B. 

C. 

D. 

3: 4

4: 3

9: 4

4: 9

https://dl.doubtnut.com/l/_o5ToMWAIZKbd
https://dl.doubtnut.com/l/_GnhlyCf8bw2f


Answer: D

Watch Video Solution

97. The medians AD and BE of the triangle with

vertices A(0, b), B(0, 0) and C(a, 0) are mutually

perpendicular if

A. b=

B. a=

C. b=

D. a=

a√2

b√2

−a√2

5b√2

https://dl.doubtnut.com/l/_GnhlyCf8bw2f
https://dl.doubtnut.com/l/_rymNbVP0Cb8F


Answer: B

Watch Video Solution

98. Vertices of a triangle are A (6,0), B (0,6) and

C(6,6). The distance between its circumcentre and

orthocentre is

A. 

B. 2

C. 

D. 1

2√2

3√2

https://dl.doubtnut.com/l/_rymNbVP0Cb8F
https://dl.doubtnut.com/l/_4UPZRthXMLpb


Answer: C

Watch Video Solution

99. If a vertex of a triangle is 
 , and the middle

points of two sides passing
 through it are 

and 
 then find
 the centroid and the incenter

of the triangle.

A. (5/3,3)

B. (5/3,-3)

C. (-5/3,3)

D. (-5/3,-3)

(1, 1)

−2, 3)

(5, 2),

https://dl.doubtnut.com/l/_4UPZRthXMLpb
https://dl.doubtnut.com/l/_t0jCUYv7GUvk


Answer: A

Watch Video Solution

100. Find the points on the line  that lies

at a unit distance from the line .

A. (5,-1)

B. (-7,11)

C. (3,-1)

D. (7,-11)

Answer: B

x + y = 4

4x + 3y = 10

https://dl.doubtnut.com/l/_t0jCUYv7GUvk
https://dl.doubtnut.com/l/_WVjgiYJZrxsA


Watch Video Solution

101. A rectangle has two opposite vertices at the

points (1,2) and (5,5). If the other vertices lie on the

line x=3, then their coordinates are

A. (3,-1), (3,-6)

B. (3,1), (3,5)

C. (3,2), (3,6)

D. (3,1) ,(3,6)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_WVjgiYJZrxsA
https://dl.doubtnut.com/l/_IV3F1DBwCcym


102. Find the equation of the straight line passing

through the origin and
bisecting the portion of the

line 
 intercepted between the

coordinate axes.

A. ax+by=0

B. ax-by=0

C. bx+ay=0

D. bx=ay=0

Answer: B

Watch Video Solution

ax + by + c = 0

https://dl.doubtnut.com/l/_IV3F1DBwCcym
https://dl.doubtnut.com/l/_Ze5vE8Cg9h7g


103. Diagonals of a parallelogram PQRS must be a

A. rectangle

B. square

C. cyclic quadrilateral

D. rhombus

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_Ze5vE8Cg9h7g
https://dl.doubtnut.com/l/_TfexJigQmBEb


104. A line passes through the point  and is

perpendicular to the line  then its -

intercept is

A. 43833

B. 43864

C. 1

D. 43924

Answer: D

Watch Video Solution

(2, 2)

3x + y = 3, y

https://dl.doubtnut.com/l/_BFlzAAElKcNW


105. The distance of the mid point of the line joining

the points  from the

origin is

A. 

B. 

C. a

D. a

Answer: A

Watch Video Solution

(a sin θ, 0) and (0, a cos θ)

a

2

(sin θ + cos θ)
a

2

(sin θ + cos θ)

https://dl.doubtnut.com/l/_MD4lyas8CSXg


106. If the straight line 
 where 


makes a triangle of area 2 sq. units with

the coordinate axes, then
 
are in GP
a, -b; c are

in GP
 
are in GP (d) 
are in GP

A. a,b,c are in G.P.

B. a,-b,-c are in G.P.

C. a,2b,c are in G.P.

D. a,-2b,c are in G.P.

Answer: A

Watch Video Solution

ax + cy = 2b,

a, b, c > 0,

a, b, c

a, 2b, c a, − 2b, c

https://dl.doubtnut.com/l/_yJflyEOWQ3DM
https://dl.doubtnut.com/l/_gDqLh4XNujYV


107. If  are the lenghts of perpendiculars

from origin to the lines x. sec a+y . Csc a=2a and

x.cos +y. sin  =a cos 2 ,

A. 

B. 4 

C. 4 

D. 4 

Answer: C

View Text Solution

P1andP2

α α α

4 sin2 4α

cos2 4α

csc2 4α

sec2 4α

https://dl.doubtnut.com/l/_gDqLh4XNujYV


108. If 
and 
are the

vertices of a triangle 
 , what is
 the length of

the median through vertex 
?

A. 5

B. 4

C. 1

D. 3

Answer: A

Watch Video Solution

A( − 1,  3),   B(1,   − 1) C(5,  1)

ABC

A

https://dl.doubtnut.com/l/_AuXhBZPxu9rv


109. The equation of the locus of the point whose

distance from the x-axis is twice that of from the y-

axis is :

A. y=x

B. y=2x

C. x=y

D. x=2y

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_jMp4o5iDRSwz


110. Show that the points 

are collinear if 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(3, 3), (h, 0) and (0, k)

+ =
1

h

1

k

1

3

+ + =
1

h

1

k

1

3

− =
1

h

1

k

1

3

− =
1

k

1

h

1

3

=
1

h

1

k

https://dl.doubtnut.com/l/_4Mv3F249Qepo


111. if  are the exterimities of the

diagonal of the parallelogram and  is

itts third vertex then find fourth vertex,

A. (1,0)

B. (-1,0)

C. (0,1)

D. (0,-1)

Answer: B

Watch Video Solution

(3, − 4), ( − 6, 5)

( − 2, − 1)

https://dl.doubtnut.com/l/_ytC16W5jVmJU


112. If P(1,0), Q(-1,0) and R (2,0) are three given

points, then the locus of the point  satisfying the

relation 

A. a line || to X-axis

B. a line || to Y-axis

C. circle with centre at origin

D. none of these

Answer: B

Watch Video Solution

S

(SQ)2 + (SR)2 = 2(SP )2

https://dl.doubtnut.com/l/_M2fky3hAujvo


113. The distance of the mid point of the line joining

the points  from the

origin is

A. a

B. 

C. a

D. 

Answer: D

Watch Video Solution

(a sin θ, 0) and (0, a cos θ)

(sin θ + cos θ)
a

2

(sin θ + cos θ)

a

2

https://dl.doubtnut.com/l/_Ro60yIbe0OSZ


114. If a triangle has it's orthocenter at (1,1) and

circumcentre (3/2,3/4) then centroid is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( , − )
4
3

5

6

( , )
4
3

5

6

( − , )
4
3

5

6

( − , − )
4
3

5

6

https://dl.doubtnut.com/l/_TtNwfA2vMLsK


115. The vertices of a triangle are (0,3) ,(-3,0) and

(3,0) . The coordinates of its orthocentre are

A. 

B. (0,0)

C. 

D. 

Answer: B

Watch Video Solution

( , 2)
3

4

(1, )
4
3

(2, )
3

2

https://dl.doubtnut.com/l/_G97pvrsTMkR3


116. If the orthocentre and centroid of a triangle are

(-3, 5) and (3, 3) then its circumcentre is

A. (0,4)

B. (6,-2)

C. (6,2)

D. (0,8)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3xYQQbWiSQ7a


117. The medians AD and BE of the triangle with

vertices A(0, b), B(0, 0) and C(a, 0) are mutually

perpendicular if

A. a

B. b=

C. ab=1

D. a=

Answer: D

Watch Video Solution

=
b

2

a

2

±√2b

https://dl.doubtnut.com/l/_ttDWZO1D5VLA


118. The point which divides the join of (1,2) and(3,4)

externally in the
ratio 1:1
a. lies in the III quadrant
b.

lies in the II quadrant
 c. lies in the I quadrant
 d.

cannot be found

A. lies in the third quadrant

B. lies in the second quadrant

C. lies in the first quadrant

D. cnnont be found

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_81acrAR68KfS
https://dl.doubtnut.com/l/_YhtfDU2RLc2f


119. The points , .  and 

 are

A. vertices of a rectangle

B. vertices of a parallelogram

C. collinear

D. none of these

Answer: C

Watch Video Solution

( − a, − b) (0, 0) (a, b)

(a2, a3)

https://dl.doubtnut.com/l/_YhtfDU2RLc2f


120. If A and B are two points on the line joining P

(2,5) and Q (4,-7) such that PA =AB=BQ then the mid

point of seg AB is

A. (3,1)

B. (3,-1)

C. (-3,1)

D. (-1,3)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_yzx0P1qO5whA


121. A triangle with vertices

, is

A. isosceles and right- angled

B. isosceles but not right -angled

C. right-angled but not isosceles

D. neither isosceles nor right -angled

Answer: A

Watch Video Solution

(4, 0), ( − 1, − 1), (3, 5)

https://dl.doubtnut.com/l/_2PQsnFoArjzX


122. If B (1,3) is equidistant from A (6,1) and C (x,8)

then x =

A. 3 or -5

B. 

C. 

D. 3 or 5

Answer: B

Watch Video Solution

−3 or 5

−3 or 5

123. The points (1,5) , (2,5) and (3,3) are

https://dl.doubtnut.com/l/_F6tnJKXsr7tB
https://dl.doubtnut.com/l/_y4fJoHAF2byR


A. vertices of an equilateral triangle

B. vertices of an isosceles triangle

C. vertices of a right-angle triangle

D. collinear

Answer: D

Watch Video Solution

124. If A  (0,0) and B  (4,-3) then the locus of

the moving point P such that 2 PA = 3PB is

A. +72x+54y+225=0

≡ ≡

5x2 + 5y2

https://dl.doubtnut.com/l/_y4fJoHAF2byR
https://dl.doubtnut.com/l/_xUH0OweiOm5F


B. -72x-54y+225=0

C. -72x+54y+225=0

D. none of these

Answer: C

Watch Video Solution

5x2 + 5y2

5x2 + 5y2

125. If the points (x,y), (x',y') and (x'-x',y-y') are

collinear then

A. xy=x'y'

B. xx'=yy'

https://dl.doubtnut.com/l/_xUH0OweiOm5F
https://dl.doubtnut.com/l/_HXVrA9JGNzLY


C. xy'=x'y

D. none of these

Answer: C

Watch Video Solution

126. The triangle with vertices (2,4), (2,6) and (2+

,5) is

A. isosceles and right- angled

B. always isosceles

C. right- angled

√3

https://dl.doubtnut.com/l/_HXVrA9JGNzLY
https://dl.doubtnut.com/l/_4u3kyfdKcRBi


D. equilateral

Answer: D

Watch Video Solution

127. The triangle with vertices (0,0), (2,0) and (0,3) is

A. acute-angled

B. isosceles

C. right-angled

D. equilateral

Answer: C

https://dl.doubtnut.com/l/_4u3kyfdKcRBi
https://dl.doubtnut.com/l/_7V1lSVx2I8j1


Watch Video Solution

128. For what value of 
 are the
 points

collinear?

A. 

B. 

C. 1

D. -1

Answer: D

Watch Video Solution

k

(k, 2 − 2k), ( − k + 1, 2k)and( − 4 − k, 6 − 2k)

1

2

−
1

2

https://dl.doubtnut.com/l/_7V1lSVx2I8j1
https://dl.doubtnut.com/l/_KffWs9qnkTuu


129. If the point (x, y) is equidistant from the points

(a+b, b-a) and (a-b, a+b), then prove that bx=ay.

A. ax=by

B. bx=ay

C. ax=-by

D. bx=-ay

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KffWs9qnkTuu
https://dl.doubtnut.com/l/_YBu8210D7j1I


130. If 
 and 
 are the

vertices of a parallelogram 
 then



 (b) 
 
 (d) 

A. a=2, b=4

B. a=3, b=4

C. a=2,b=3

D. a=3, b=5

Answer: C

Watch Video Solution

P (1, 2)Q(4, 6), R(5, 7), S(a, b)

PQRS,

a = 2, b = 4 a = 3, b = 4 a = 2, b = 3

a = 1 or b = − 1

https://dl.doubtnut.com/l/_AfJ7pb1WuEvt
https://dl.doubtnut.com/l/_N2160paeJG4X


131. In what ratio does the line x -y - 2 = 0 divides the

line segment joining (3, -1) and
(8, 9) ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2: 3

3: 2

−2: 3

−3: 2

https://dl.doubtnut.com/l/_N2160paeJG4X


132. The co-ordinates of the orthocentre formed by

the lines x =0, y=0 and x+y=1 are

A. (-2-1)

B. (-2, 1)

C. (0,0)

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_8DUiDIEVaFQP


133. Find the equation of the straight line which

makes an angle of  with the positive direction of

x-axis and which cuts and intercept of length  on

then negative direction of y-axis.

A. (2- x+y-4=0

B. (2- x-y-4=0

C. (2- xy-4=0

D. (2+ x+y+4=0

Answer: B

Watch Video Solution

15∘

4

√3)

√3)

√3)

√3

https://dl.doubtnut.com/l/_1UD3m6u2kv6s
https://dl.doubtnut.com/l/_Z08wDF0ur2cd


134. The equation of the straight line cutting off an

no intercept 8 on x-axis and making an angle of 

with the positive direction of y -axis is

A. x- y=8

B. x-  y=8

C. y= x+8

D. none of these

Answer: B

Watch Video Solution

60∘

√3

√3

√3

https://dl.doubtnut.com/l/_Z08wDF0ur2cd


135. A rectangle has two opposite vertices at the

points (1,2) and (5,5). If the other vertices lie on the

line x=3, then their coordinates are

A. (3,-1), (3,-6)

B. (3,1), (3,5)

C. (3,2), (3,6)

D. (3,1), (3,6)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_WiIXTofMGACq


136. The equation of the line which passes through

the point (3,4) and whos y-intercept is twice its x-

intercept, is

A. 2x-y=0

B. x+2y=10

C. 2x+y=10

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CSeWudZC6VTy


137. Find the equation of the straight line whose

intercepts on X-axis and
Y-axis are respectively twice

and thrice of those by the line 

A. 9x+8y=72

B. 9x-8y=72

C. 8x+9y=72

D. 9y-8x=72

Answer: A

Watch Video Solution

3x + 4y = 12.

https://dl.doubtnut.com/l/_8MtrGg2OJTIj


138. find the equation of the straight line passing

through the origin and the middle point of

intercept of the line between the

axes

A. ax+by=0

B. ax-by=0

C. bx+ay=0

D. bx-ay=0

Answer: B

Watch Video Solution

ax + by + c = 0

https://dl.doubtnut.com/l/_fAtWEu6TvvXb
https://dl.doubtnut.com/l/_6sNu8Snmr8yQ


139. Find the equation of the straight line upon

which the length of
 perpendicular from origin is


units and this perpendicular makes an angle of


with the positive direction of x-axis.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

3√2

750

(√3 − 1)x + (√3 + 1)y − 12 = 0

(√3 − 1)x + (√3 + 1)y + 12 = 0

(√3 + 1)x + (√3 − 1)y − 12 = 0

https://dl.doubtnut.com/l/_6sNu8Snmr8yQ
https://dl.doubtnut.com/l/_EPKDUUSFDL3n


140. Find the angle between  and the line

joining points (1,1) and (-3,4)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y = 3

tan− 1( )
3

7

π − tan− 1( )
3

7

tan− 1( )
1

7

π − tan− 1( )
1

7

https://dl.doubtnut.com/l/_EPKDUUSFDL3n


141. The equation of the line passing through (1,-2)

and parallel to the line 8x-4y+7=0 is

A. 2x+y-4=0

B. 2x-y+4=0

C. 2x-y-4=0

D. 2x-y+6=0

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_5Da4c2kGYfgY


142. The equation of the line passing through (2,-4)

and perpendicular form the point (2,4) on the line

x+y=1 is

A. x+2y+6=0

B. x-2y+6=0

C. 2x+y+6=0

D. 2x-y+6=0

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EuX9QctDkNib


143. · The co-ordinates of foot of the perpendicular

from the point on the line  are:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2, 4) x + y = 1

( , )
1

2

3

2

( − , )
1

2

3

2

( , )
4
3

1

2

( , − )
3

4

1

2

https://dl.doubtnut.com/l/_kFiVcxG470c1


144. Find the coordinates of the foot of the

perpendicular drawn from the point (2,3) to the line

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = 3x + 4

( − , )
1

10
37
10

( , − )
1

10
37
10

( − , )
1

10
37
10

( , )
1

10
37
10

https://dl.doubtnut.com/l/_cwOicv5lfWFI


145. The value of k such that the lines

 and 

 are concurrent is

A. 7

B. -7

C. 5

D. -5

Answer: B

Watch Video Solution

2x − 3y + k = 0, 3x − 4y − 13 = 0

8x − 11y − 33 = 0

https://dl.doubtnut.com/l/_4PsK84fCX9ye


146. A line passes through the point  and is

perpendicular to the line  then its -

intercept is

A. 

B. 

C. 1

D. 

Answer: D

Watch Video Solution

(2, 2)

3x + y = 3, y

1

3

2

3

4
3

https://dl.doubtnut.com/l/_EmrwHfv072nT


147. A square is constructed on the portion of

, which is intercepted between the axes

on the side of the line away from origin. The

equations to the diagonals of the square are

A. x=5, y=-5

B. x=-5 , y=5

C. x=5, y=5

D. x-y=5 , x-y=-5

Answer: C

Watch Video Solution

x + y = 5

https://dl.doubtnut.com/l/_80XE1ZUt3VoE
https://dl.doubtnut.com/l/_qPuR0QT8unOJ


148. The equation of the line with gradient 

which is concurrent with the lines 

and 

A. 2y-3x-2=0

B. 3x+2y-2=0

C. 3x+2y-63=0

D. none of these

Answer: B

Watch Video Solution

−
3

2

4x + 3y − 7 = 0

8x + 5y − 1 = 0

https://dl.doubtnut.com/l/_qPuR0QT8unOJ


149. The equations  and 

 represent the same straight line if

and only if

A. 

B. c=f

C. 

D. a=d, b=e, c=f

Answer: C

Watch Video Solution

ax + by + c = 0

dx + ey + f = 0

=
a

d

b

e

= =
a

d

b

e

c

f

https://dl.doubtnut.com/l/_lSEgZLfqQHD3


150. Let 
 be the median of the
 triangle with

vertices 
 Then

equation of the
 line passing through 
 and

parallel to 
 is
 



 


A. 2x-9y-7=0

B. 2x-9y-11=0

C. 2x+9y-11=0

D. 2x+9y-7=0

Answer: D

PS

P (2, 2), Q(6, − 1)andR(7, 3)

(1, − 1)

PS 2x − 9y − 7 = 0

2x − 9y − 11 = 0 2x + 9y − 11 = 0

2x + 9y + 7 = 0

https://dl.doubtnut.com/l/_jBRY5750OA9H


Watch Video Solution

151. If the lines ax+12y+1=0 bx+13y+1=0 and

cx+14y+1=0 are concurrent then a,b,c are in

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jBRY5750OA9H
https://dl.doubtnut.com/l/_8sJ1ctVjKVm3
https://dl.doubtnut.com/l/_HxuFqoWiaPzt


152. If (-4,5) is a vertex of a square and one of its

diagonal is 7x-y+8-0.Find the equation of other

diagonal

A. 7x-y+23=0

B. x+7y=31

C. x-7y=31

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HxuFqoWiaPzt


153. The new co-ordinates of the point (4,5) when

the origin is shified to the point (1,-2) is

A. (5,3)

B. (3,5)

C. (3,7)

D. (7,3)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_KAk404C8bBbB


154. A straight line moves so that the sum of the

reciprocals of its intercepts on two perpendicular

lines is constant then the line passes through-

A. (k,k)

B. 

C. (k,-k)

D. (-k,-k)

Answer: B

Watch Video Solution

( , )
1

k

1

k

https://dl.doubtnut.com/l/_pVYlMcitG1PH


155. the lines  for

different values of  passes trough the fixed

point is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(p + 2q)x + (p − 3q)y = p − q

p&q

( , )
3

2

5

2

( , )
2

5

2

5

( , )
3

5

3

5

( , )
2

5

3

5

https://dl.doubtnut.com/l/_nWqdaErNlOtB


156. Show that the straight line

 for different

values of a and b passes through the fixed point .

Find that point

A. (2,1)

B. (2,-1)

C. (-2,1)

D. (-2,-1)

Answer: B

Watch Video Solution

x(a + 2b) + y(a + 3b) = (a + b)

https://dl.doubtnut.com/l/_zeRdZGUeiUwC
https://dl.doubtnut.com/l/_nhaDLKxmR8sA


157. The diagonals of a parallelogram ABCD are

along are the lines x+3y=4 and 6x-2y=7. Then ABCD

must be a

A. rectangle

B. kite

C. cyclic quadrilateral

D. rhombus

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nhaDLKxmR8sA


158. If a+b+c=0 then the line 3ax+by+2c=0 passes

through the fixed point

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2, )
2

3

( , 2)
2

3

(2, )
2

3

( , )
2

3

2

3

https://dl.doubtnut.com/l/_jdhZcYb9Re6I


159. Equation of a straight line passing through the

point of intersection of

 are

perpendicular to one of them is

A. x+y+3=0

B. x+y-3=0

C. x-3y-5=0

D. x+3y+5=0

Answer: B

Watch Video Solution

x − y + 1 = 0 and 3x + y − 5 = 0

https://dl.doubtnut.com/l/_5EayeM6gKqCS
https://dl.doubtnut.com/l/_Yh4Ccdun1nEt


160. The lines

will be perpendicular, if :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x cosα + y sinα = P1 and x cos β + y sinβ = P2

α =
π

2

α = β

α ± β =
π

2

|α − β| =
π

2

https://dl.doubtnut.com/l/_Yh4Ccdun1nEt

